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Even More 3-6: Compounding Inequities m

&\ olve each compound inequality. Graph the solutions on the number line AND state 3 numbers
in the solution set. Show all your work! :

&— ——  ——9 = i
(1. 4m-5>7 or 4m—-5<-9 B '
| \___._J’i_—*—-—(:—\ + ( t ‘\ .d ‘——-'—I 1;) g_b—l —
G > 12 %wm <Y ==t s e e
9 K \ o 0 5
Solution: w<-1 o wm > 3
M>Dd wr <~ A . y
3 numbers in the solution set: (owwwrve Wil vavy))
(2/ —1<x+2<4
\_‘ Y —) -1 e 9_ ! ""“‘@‘_ —€ .
32 v =2 s 0 5
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3 numbers in the solution set: /auroeve wil vawy)
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Solution: R

3 numbers in the solution set: (awwevc aslf \fovﬂ

(4) 2(5-x)>12 and 7x>4x+9 - e 5
e -S> 3x >4 -5 0 5
7 2 3 03 Solution: &8
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3 numbers in the solution set: (Geavevt eoil vany
6. 3y+11214 or 2y <5y—12 e %
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Solution: Yy 2 {
3 numbers in the solution set: /auwauere Wil vnmg!)
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7. 3(c+4)<12 and c+2>5

Solution: £5

3 numbers in the solution set; TActe ave mt.e{

8. 3-2k<7 or 2k+13 <1
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Solution: le 4 6 o & =2 -2

3 numbers in the solution set: (Gtmres w

9. 2Bw+5)<7 or 2w+8<5w—1
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-5 =0 5
Solution: w</:‘L- a3

3 numbers in the solution set: (g ove wnll vpry b

10. 8<2(x+3)—4<14
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Solve each compound inequality and graph the solution:
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7. 6-2(Ax+1)=-10 and 5—(x-9)<2x+7 e T
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